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QUESTION 1

What is the default REST HTTPS port used on a Junos device?
A. 3000

B. 8443

C. 3443

D. 443

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ port-edit-
system-services-rest.html

QUESTION 2

Which protocol supports the GET and POST methods?
A HTTP

B. XML

C. JSON

D. YAML

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/information-products/pathway-pages/restapi/rest-
api.pdf

QUESTION 3

Which statement is correct about automation?

A. Automation increases the amount of time it takes to retrieve information from a large number of devices
B. Automation reduces the costs of managing a large number of devices

C. Automation increases the number of commands in the CLI

D. Automation increases the amount of time needed to make changes to large numbers of devices

Correct Answer: B

QUESTION 4
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Which Python operator tests two variables to see if they contain the same value?
A l=

B.l==

C.==

D.

Correct Answer: C

Reference: https://www.programiz.com/python-programming/operators

QUESTION 5

What are two characteristics found in a modern DevOps environment? (Choose two.)
A. The development and operations environments are identical

B. The development and operations environments are different

C. The DevOps practice relies heavily on the use of physical hardware

D. The DevOps practice relies heavily on the use of virtualization

Correct Answer: BD
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